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L Continuation of analysis of reciprocal testimony (y91n1)
a. Original statement by y”an3 (when the artisan has his tools with him...):
i. Ruling: if a 9an has his wares and goes to drink:
1. wversion #1: the outer ones are mrnY (when he's near 1”m)
2. wversion #2: all are mMnv (when he's away from 1”n7)
3. wversion #3: all are mrnY
4. solution: all mxnY when he has 112 1namr *9 (all know he's selling, they check them out)
II. alternate explanation for dispute between 1237/7717 ’7. whether we use nmn as proof of n1n3 for pony
a. Quetsions posed as to what demonstration of nn> provides sufficient proof for pony
i.  Question #1: is a properly signed 70w, where the debtor's name is indicated as jn3 — proof?
1. Dispute: XTOn /810 " (are they testifying about the amount or the whole 10w?)
ii. Question #2: is w93 mMrow1 sufficient proof?
1. observation: question may be posed to both nmn’ "1 and 1127 (above)
a. 1: 1327 perhaps they recognize nmin, due to the strict penalty (nnn)
b. 2:nmn 1 perhaps he doesn't recognize nmAn, since it's eaten privately
2. ruling: dispute R1aR "/RTON
3. observation: oy '7 points to Xn»11 quoting v. 1 (and vv. 2-3) that indicates that Dn2 in Xty's
time whose vin» was unfounded were allowed to continue 0’93 mMRrWI >we can't use MR
'8 as proof for pony (otherwise, their "distancing" is useless)
a. challenge: but they allowed them nman n» R (implication of v. 1)
b.  rather: since they weren't allowed to eat n»w1p, all know they're "demoted"
c. alternatively: they may only eat 13297 nmyIn
d. alternatively: v. 1 may refer to nmn as well, as per v. 2
4. challenge: (®Rn12#1) proofs of N2 in various lands:
a. 1z o) mrow (2is good proof; as is non)
i. Rejection: non itself (13277 in Syria) is only proof for nmn
b. »monon
c.  Cities of &, mnn
5. challenge: (xn»12 #2) proof of nnnd
a. % nmn and 0”93 MROWI (wWe assume: 1NN > Pony)
i. Rejection: nmn = nbn, since NMN is 13297; NYN is n”nn
1. as per: 117, reading v. 4 as "immediately upon arrival”
2. dissent: »"17 7™11 RN 27: only when all are in »R
a. Explains: reasoning of Xn»a #1
b. Anywhere where n”1 'msw get to: 93 MRV alone (not nMIN) — includes Y11
i. 27awT extends also to Alexandria
6. challenge: (xn»11 #3): proof of N3 is 0»a3 MKW, MMAN and "nN1Y” (of NpN)
a. examples: mR "7 and 5”271 declared individuals "5/1n2 based on 1”122 Yy
b.  counter: 5" required nmn as well — 3Ny "1 disagreed (7YY is enough)
7. ancillary ruling: 11 used father's testimony to feed nmn to son, not for pony
a. counter: R»n "1 —should be consistent
b.  Note: R7n "1 would allow such proof if it is 191n *a5 non (as per story with »a1 and
man who remember his own n1n3-treatment as child)
8. useof 77vpas proof: (Rn»12 #4): 1"vn is proof, but not if he divides with his brothers in 7”2
a.  Reason for 7pp: after X7ty took it away from n»?; if we know that his father is 102
but rumors are that he is 591, giving it out to him is proof
b.  Reason for 15 may be getting his portion to sell, not to eat
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